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corr_Adet_evMon10 (ppb) 1D pull distribution
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200

500 X2 / ndf 466.9/ 74 K Mean  -0.1247 + 0.2649
= p0 8.228 + 4.836 i T
400 :— * : StdDev  2.279 + 0.1873
300 E— 10 Underflow 0

* Overflow 1
* { L X2/ ndf 9.898/17
8
{ | Constant ~ 6.003 + 1.121
{ } i Mean  -0.2325  0.3261

= Sigma 2.323+0.371

100{{

0 III|III|III|III|III|III
8 6 4 =2 0 2 4 6 8




g_evMon10 RMS (ppm)

corr_us_av

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T°0SvE

'HIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

< N

0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
2'9EvE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre



100

50

-100

corr_us_avg_evMon11

ppb)

X2 [ ndf
p0O

1115/74
-0.6559 + 3.414

16

14

12

10

1D pull distribution

& T

Mean -0.02564 + 0.1407
__ Std Dev 1.219 +0.09951
: Underflow 0
-_ Overflow 0
'_ X2 / ndf 7.011/10
: Constant 13.52 +2.44
-— Mean  -0.05518 +0.13203
: Sigma 1.071+0.145
L1l | Ll 1 | 111 | 111 | 1 Ll | Ll
-6 -4 -2 0 2 4 6 8




g_evMonl1l RMS (ppm)

corr_us_av

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T0sve

TIIIIIIIIIIII

0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
T EVVE
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
2'9EvE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre

o Lo
(92] N

(wdd) sny



15000

10000

5000

5000

10000

corr_us_dd_evMonO (ppb)

I

X2/ ndf 36.12 / 74
) 1036 + 650.3

TE[TITT]

1D pull distribution

Mean 0.0004527 +0.08014

22 » Std Dev 0.694 + 0.05666
20-_ Underflow 0
o Overflow 0
18-
- X2 I ndf 1.398/4
16
N Constant 21232
14 Mean  -0.03684 +0.10154
[ Sigma
12F 1 9 0.7527 +0.0831
10
8_
6_
4
ok
0'||||||||| WER R ol
-8 -6 -4 -2 0 2 4 6 8




(ppm)

corr_us_dd _evMon0O RMS

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T0sve
0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
C'9EVE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre

o o
[c0) ©
< <

(wdd) sy



~ =] o o - < o0 o
g 3 5 & 2 8
g 3 g 5 E S w
o + b o o H -
+ ~ S g + > ]
NI~ s o 8
g g g 3 :
8 o 2 o — ©
=3 o -1
g ]
i £ % 5 3 .
c|l§g & ¢ 8§ £ &z § E =
e E
|2 & 5 &8 « 8 2 & g
S ]
m — N
= ——
—
0 = o
S ! =
= "
= )
a -«
o ]
— I
7
—¢
PN PR B I I L de
n o n o n o n o
™ (30} N N - -
[ r — .
—_—————— b T -
M < o = :
-~ m -» — - .
Py - 4
@ ° - -
(S~ E— -
8 + - 3 .
< & - :
™ = .
o 0 4
< P |  f .
—y———i —_ g
o 3 :
“— o—— -] ¥
* - 0%
© ® — 6T
3 3 = 3
\12/0 — = 91
Q< o — — VT
o * — o
£ s - L1y
— [N /- — - 60
= 7]
. - 50
o - 50
2 3 g0
> P ] -
o ° - 2
° ————— —+
© a b ]
| < -
n & -
u —
r_ -
p— " —
(@] ® —
Q —_— —
*— -
P —
——te—— -
1 O
mw H
i =5 VEVE
I _._.....TL.......I.I...T_.I.I u B (0 s P L P
S s 8 S g g g XoINONY®©®
o 0 =] 5 n S n o D000 OO0OO0OOoO
N — — | — — o~ [



(ppm)

corr_us_dd _evMonl RMS

_____
o
e}

(wdd) sny



corr_us_dd_evMon2 (ppb) 1D pull distribution

1500 X2/ ndf 60.91/74 R
— Mean 0.01196 + 0.104
- pO —24.39 = 50.08 C
22~ StdDev  0.9011+0.07357
1000 [
20+ Underflow 0
: Overflow 0
500 18-
- 3 X2/ ndf 5.763/6
- ° 16|~
0 r Constant 16.16 + 3.05
- 14 Mean  0.08791%0.11593
-500— C .
- 12F Sigma 0.9226 + 0.1460
1000 — 10F
- 8-
6
af
of
0_|||||||| | il
8 6 -4 =2 0 2 4 6 8

NN
SIS
HMNHOMD

el



(ppm)

corr_us_dd _evMon2 RMS

L o
< <

(wdd) sny

15

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T0sve
0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
C'9EVE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre



600

400

200

-200

-400

-600

corr_us_dd_evMon3 (ppb)

X2/ ndf 7221174
) -1.715 + 16.38

18

16

14

12

10

1D pull distribution

Mean 0.01836 + 0.1133

Std Dev 0.981+ 0.0801
Underflow 0
Overflow 0
7 1 X2/ ndf 4.524/8
Constant 17.96 + 2.73

Mean 0.1262 + 0.1031

Sigma 0.8408 + 0.0832

-2 0 2 4 6 8



(ppm)

corr_us_dd _evMon3 RMS

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'1SVE

T0sve
0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
2'9EvE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre

-.":IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

5 0 5 0 5 0 5 0 5
< < ™ ™ N N — —

(wdd) sny



corr_us_dd_evMon4 (ppb)

1000 [—

500 —

-

X2 / ndf
p0

261.9/74
-28.03 + 16.6

f

-500

0000000000
OO MNMMMMM DN
SIS IIIIIIII SIS
NONIDDHDHONDOHODHONDDDHDHNOD

wmmmmmmmmmmmoooooooooggaHHHHﬁHHNN

[l
<

NNDOONOONNNNIITIIIITIITIIIIIIIIIIIST.
PSS PSS 65 65 5 s b o s PSS B s v O S IS s G o s S 9 8
OONNDDONO DNODHDOHDHDNHOOO! DM

000

i il
LOOLOLOLD!

o
2 3
SIS
NONIDDHNONHMND

1D pull distribution

Mean -0.04701+ 0.2157
16~ Std Dev  1.868 + 0.1525
| Underflow 0
14
o Overflow 0
B X2/ ndf 15.73/15
12
L Constant 7.712 + 1.662
10+ Mean  -0.2469 * 0.2220
r Sigma 1.649 + 0.302
sk
6 —
4
2
0|||| NN ARNE RNRE AR llll_l
-8 -6 -4 -2 0 2 4 6 8



(ppm)

corr_us_dd _evMon4 RMS

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T0sve
0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
C'9EVE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre

'I'IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

5
30
25
20
15
10

5

(wdd) sny



§y 3 ° 7 & g 3 2
© e} - ~ © ~
I} N @ S 0 =]
°© °© hed H ° + ﬂ
+ + g < H ~ ]
2] N [s2] ~ wn
=3 < 3 S e} =
S o [ Z =
T 2 = ! _
> o H e = =
@ 5] K] k] 8 a —]
5 [a} 5] 5] c @ H g
[ o T B e s g ° ]
|l & 5 &6 % & = ® Z —
2 [ d ]
% 7 .
R [ ]
© / -
=1 -
o —
o ]
- -
vl b by e by b b e by TN
© ~ © [%3) < ™ N — o
[ —— —
—— —
<t ™ —.— -
~ < —e— —
/2 —— — e -
o 1 o 3
S ¢ s
78 —— —
%] —e—
N -
H —— —
i e -]
—— —
—— —
P
S T —e— -
[ —— —
/0 —— — -
~| ——t —
Q (o} —e —
a|™ —e— -
Q —e— =
~ —— —
—e— —
o —e— —
c ——t —
S e —e— -
M —— —
S —e— —
—e— —
() —@— —
| —— —
o ——
S —— —
—e— —
_ —e— —
[2] —— —
> —— —
_ —— —
— —— —
A —— —
(@] ——1 —
o —e— —
—a— —
—— —
—— —
——t —]
—— —
—— —
—e —
——t —]
—— —
—— —
—— —
— —
—e— —
—— —
—— —
—— —
—— —
—— —
.|0|.. —
Lol ___L._b._.. AW _______________u.._.
2 8 3 8 g 8 g geovno



(ppm)

corr_us_dd_evMon5 RMS

-I—IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

[e@] ©
— —

(wdd) sny

<
—

N
—

10
gl—
6
4
2

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T0sve
0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
C'9EVE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre



§ 8 ° ° 3 2 3 2
s 3 5 % 0§ &
H nw., = H w + N
m Q - § o S -
= @ e N ©
o = ~ = -
o
E -
g § & g s =
c () = %] c -
c|§ = £ ¢ £ § 5 ]
col|l= & 5 & S = ® -
= ]
5 1
m =
= ]
0 1
ke u
w o — | ]
o [ o —— —
o ]
i -
L R T M R R T T N T T T | L
~ S © < ~ =
- —
I —— —
< O ° —— -
N~ —— ]
: —e— -
~ <
e -
0 | —e— -
S+ —e——
—— —]
(Co] —— —
™ -
()] —— 1
—e—i —
—— —
—e— —
—e— -
5 =
—e— —
c -
=) =
~|cn —
Q> 9 -
=1 . J
o -~ . =
(o) —
c —e—+ —]
o —— | -
> —— —
< —— —
—— —
(©] —eo—— —
| —o— -
=] —— -
° — 1 -
— —]
| —— -
)] — —
S —e— —
o —e— -
= —e— -
o ——t —
o —e— —
—— —
e -
—— —
—— —
—— —
— 1 —
—— —
—— —
—— —
——— -
—e— —
—e— -
—e— -
——t —
—— —
—— —
—— -
(] _ L1 _ (] _ L1 _ | _ 111 _ 1 1—hii i
8 8 8 ° 8 8 g g
© < i N 5 ® &




(ppm)

corr_us_dd _evMon6 RMS

TIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

111 _ L1 11
o
Ty}

(wdd) sny

40

T'esve
0'¢sre
S'TSVE
V'ISve
€IS
514>
TSV
0'TSVE
2'0Sve
T0sve
0'0Sve
€Lvve
C'LyvE
TLvvE
0'LvvE
Tevve
0'Erve
v'evve
eerve
2erve
Tevve
0'¢crive
6'TrveE
8'Trve
L'TVvE
9'Trve
S'Trve
V' Ivve
ETrve
544
TTrve
0'Trve
8'0vve
L'0vve
9'0vve
S'ovve
v'orve
£orve
covve
Tovve
0'0vve
6'6EVE
8'6EVE
L'6EVE
9'6EVE
S'6EVE
'6EVE
€'6EVE
C'6EVE
T'6EVE
0'6EVE
6'8EVE
8'8EVE
L'8EVE
9'8EVE
S'8EVE
¥'8EVE
£'8EVE
2'8EVE
T'8EveE
0'8EVE
0°LEVE
L'9EVE
9'9EVE
S'9EVE
V'9EVE
E€'9ErE
C'9EVE
T9gve
0'9Eve
0'SEVE
EVEVE
CVEVE
Tveve
0'veEre



corr_us_dd_evMon7 (ppb) 1D pull distribution
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1D pull distribution
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1D pull distribution
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1D pull distribution
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25~ Underflow 0
B Overflow 0
r X2 / ndf 2.871/4
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